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Although the vet force on the wheel is zero, the wheel will move
(rotate). A pair of edual forces acting v opposite directions but at
different points on an object (as shown above) is
referred to as a couple.
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Balancing a seesaw. A board of mass serves - It" ma 225 ke
as a seesaw for +wo children, as shown in Fig. a. Child A ‘

A has a mass O‘F 30 k@ + Torque ( —’ = P“ - ﬁr" ~ Torque
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and centered over the pivot.
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Hinged beam and cable. A uviform beam, 2.20 m lowg
with mass m= 25 kg is mounted by a small hinge on
a wall as shown in the Figure.

The beam is held in a horizontal position by a cable
that makes an angle 6=1°

The beam supports a sign of mass suspewded from
s end. Determive the components of the force that
the (smooth) hivge exerts on the beam, and the
tewnsion v the supporting cable.
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